                      Входящий контроль
1.  Решить уравнение:
а.  [image: image1.png](Bx — 4)* — (bx — 2)(bx + 2) + 20 = 0.




б.   [image: image2.png](4x + 3V (4x - 3)Y-(6x — 12 +18=0




в.   [image: image3.png]



г.    [image: image4.png]



2. [image: image5.png]PemuTs cucremMy vpaBHEHU M



     а.  [image: image6.png]x-y=1"17,
x? -y? =14



       б.  [image: image7.png]x+y=3,
x?2-y?2 =15




3. [image: image8.png]IHocTpouTer rnadukK GVHKIIUHU



      а.   [image: image9.png]y=—(x—2)°+3




                                                                           б.   [image: image10.png]y=—(x+3)32-1




4.  Решить неравенство   а.    [image: image11.png](x+ 1)(x - 3)(x - 9)
(x — T)




б.    .    [image: image12.png](x+ 2)(x - 3)(x — 4)
(x — 2)2




в.    [image: image13.png](x — 3)1%(x — 1) x%(x + 2) < 0.




      г.   [image: image14.png](x—-9"(x-1DS(x+1)x220




5. Упростить:        а.   [image: image15.png]8 —nd

2+ n

(24

n2
2+ n

n—2.n2+2n




                                  б.  [image: image16.png]1 1 . 1+ 3a 2+ 6a
2-6a 27a%®-1 1+ 38a + 9a? a





6. Решить уравнение:    а.    [image: image17.png]x2 -4 x%2+ 2x x%- 2x




                                            б.   
[image: image18.wmf]y
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